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7y 7L
A=/ X XD
Al= ( 2.26 + 2.26 ) X 1/2
( 9.7 4+ 9.35 ) X 1/2 21.58
A2= ( 2.26 + 2.26 ) X 1/2
( 4.77 4+  4.271 ) X 1/2 10. 22
> 31.80 | m?® 31.8
BLIARS FEYEWTE ] - RAHX LY
(RC-40) Vvi= ( 0.70 4+ 0.70 ) X 1/2
(9.7 4+ 9.3 ) X 1/2 6. 69
V= ( 0.70 4+ 0.70 ) X 1/2
( 4.77 4+ 4.271 ) X 1/2 3.16
> 9.85 | m® 9.9
H ks A= 2.26 X 0.350 X 1. 00 0.79
(R8T 4A, t=10mm)
> 0.79 | m? 0.8
LA T B LD
L= 13.62 13.62 | m 13.6
K L X XD
= 14.52 14.52 | m 14.5
/NEIET B XD
N= 2.00 2.00 | k& 2.0
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620
4 PR g A AL
a7 U—K | V= { 0.100 X 0.230 + ( 0.230 +
(18-8-40BB) 0.100 ) = 2.000 X 0.320 } X
10. 000 = 0.758 | m°® .76
A= ( 0.230 + 0.100 ) X 10.000 = 3.300 | m? .30
BHLarzU—k V= 0.620 X 0.100 X 10.000 = 0.620 | m® .62
(18-8-40BB)
LRI A= ( 0.100 + 0.100 ) X 10.000 = 2.000 | m?® .00
H Higs A= { 0.100 X 0.230 -+ ( 0.230 -+
(BHE F& 744, £=10mm) 0.100 ) = 2.000 X 0.320 } X
1. 000 = 0.076 | m?® .08
R L A= 0.620 X 10.000 = 6.200 | m?® .20
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avol)—Fk
(18-8-25BB)
= J
200 330
4 PR g A BAT|
a7 Y—K | V= ( 0.330 X 0.130 = 2.000 +
(18-8-25BB) 0.200 X 0.130 ) X 10.000 = 0.475 | m°® 0. 48
iyt A= 0.130 X 10.000 = 1.300 | m? 1.30
H ikt A= ( 0.330 X 0.130 <+ 2.000 +

(AR, t=10mm) 0.200 X 0.130 ) X 1.000 = 0.047 | m® 0.05




7N | 1k T
1,502
530 972 300
300 avHy—k
4 PR At A
a7 J—hk { ( 0.530 + 1.502 ) = 2.000 X
(18-8-40BB) 2.430 — 0.690 X 2.300 <+ 2.000 !}
X 0.300 0.503
iyt { ( 0.530 + 1.502 ) = 2.000 X
2.430 — 0.690 X 2.300 = 2.000 }
X 2.000 + 2.430 X 1.077 X
0. 300 4,136
KA 1,077 (1:0.4)
ISR 0.812 X  0.300 0.244
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7K N= 1.00 1.00 | = 1.0
B HEAK T
N=  1.00 1.00 | =
RFFEIT. ¥+o9H T
A= ( + ) X m?




KB B BEHE

AR AEIE, LU0 R &G B9 D,

T % T B T | e | 00| Ak i
T fi 6.0 m3
R, 26.0 m3
HRL 21.0 m3
AT Tay T 17.0 m2
ST =2 7)) —h TUNUREED)) 1.1 m3
AU O ED) 16 m2
L= 7~ HOVBHEER | 0.9 m3
BUBBONVHEY) | 28 m2
NET = )~ TOMIER) | 10 m3
AT N E) 8.3 m2
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(—xK%E0)
B VmEE &Y
99. 75 99.75 | m? 99. 8
R BEIEY) 99.750 X 0.200 X 1.500 29.93 | m*®
= NFUEH SKIHFEY D DAL Z20% & FHE
(FZIE - 59) SCOPEYRE 1. bm
29.930 X  0.800 23.94 | t
2¢0. 8t/m3
23.940 -+~  0.550 43.53 |Z&m? 43.5
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